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=) 4,286
Al 36,554
o AHHMIt= 28 40,840,000 * 1JHA 40,840
< 4,286
Al 36,554
= 0lFel 1= 40,840,000 » 1JH 2 40,840
=) 4,286
Al 36,554
o 0l2el 25 40,840,000 * 1J0HA 40,840
= 4,286
Al 36,554
O ZOHQ JHel2HAIE 2IHI(200 ) 345,460
o HE2W At= 0t2 214,350,000& = 1004 214,350
= 42,870
Al 171,480
o =0t 131,110,000& = 100 A 131,110
& 26,222
Al 104,888
O HOH HFAIE SAX SE=E
117,360,000& * 14 117,360
< 58,680
Al 58,680
O HOH HFAIE ZEFRAH
2,760,000& * 14l 2,760
& 1,380
Al 1,380
O ZHe HE=ALE EAT ZINEEHZS(HAA
) 5,000,000& + 1€& 5,000
& 2,500
Al 2,500
ZOHAANF=AIE 28 XN& 3,821,945 3,821,945
= 2,675,362
< 343,975
Al 802,608
307 gl2tol & 3,821,945 3,821,945
= 2,675,362
< 343,975
Al 802,608
10 A SAAIEHISSHIEX 3,821,945 3,821,945
O ZOoHel HFAE 2Z8I(3M) 3,821,945
o S 2,036,831,00080 * 1744 2,036,831
= 1,425,782
< 183,315




SN QIF oD
B BNl =X S(AS=X/AAANST )
STAE

o
gelr ¥ Ad & EH K2 (Sl & &)

SN - SAGEA) - MRAY - BES 0l &t o

=

M
2
==
£l
Ol
0y

Al 427,734
© JtU# 1,274,633,000& * 10HA 1,274,633
892,243
114,717
267,673

o 0l &l St 510,481,000& = 1JH A 510,481
357,337
45,943
107,201

= N H

= M W

ol 158 - Hegs 29 66,000 66,000 0
33,000
33,000

= M

307 21201 & 66,000 66,000 0

33,000
Al 33,000

H

qEx 66,000 66,000 0
IS -HMEgE 2ZHI(20L) 66,000

o 158 29 50,000,000& * 14 50,000
25,000
25,000
o HEge 24 16,000,000& * 14 16,000
8,000
Al 8,000

= M

H

el olEAE 23 X 3,850,482 3,169,699 680,783

744,793
3,105,689

= N

307 21201 A 3,850,482 3,169,699 680,783

744,793
Al 3,105,689

H

10 A SXAEHE2SEHIEX 3,850,482 3,169,699 680,783
O ZoHe HATHEAIE 2SI (4HA) 1,032,493
o SFHCHAECR 465,125,0008& » 10 £ 465,125

76,922
Al 388,203

H

197,047,000& = 1JH A 197,047
32,588
164,459
o STHSER 180,316,000& = 1JH A 180,316
29,821
Al 150,495

= H

m

190 005,000& * 102 190,005
31,423
Al 168,582
O Zel F=AESAIE 2HHI(50 ) 766,961

o AEO0l JtS8 & 129,636,0008 * 1H 129,636
23,527

Hn

t




AN el 04t
PN

ZE: ZOEl =X ST(ASIZA/HAA SN )
Cel: ZOoHS EXAIE L S XY (2 &HH)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 106, 109
o MEZ FADBAL
205,124,000& = 10 A 205,124
== 37,228
Al 167,896
o M2ULI2 149,363,000 104 A 149,363
o= 27,108
Al 122,255
o Z0|8H 115,899,000& * 10 A 115,899
[ 21,034
Al 94,865
o SHMFEAESHEH 166,939,000& * 10 A 166,939
& 30,298
Al 136,641
O HQZS=NZ 294 X
1,248,188,000& * 100 A 1,248,188
o= 223,724
Al 1,024,464
O AW MEISARAMAEH 2H
215,000,000 = 10 A& 215,000
o= 43,000
Al 172,000
O Al S9dH 29
197,500,000 = 1JH 2 197,500
o= 39,500
Al 158,000
O KNHMEOMHR HOYAIE XNJHE 29
48,000,000 * 102 48,000
o= 13,400
Al 34,600
O ZOoHel OISBAIE SAX EE€2E
76,440,000& * 14 76,440
& 38,220
Al 38,220
O AZEMR JIEHAJHEH 29
130,000,000& * 14 130,000
& 26,000
Al 104,000
O HOHCIIIZSXNIEE 29
135,900,000& * 1JH A 135,900
& 51,000
Al 84,900
SSZOHAXSMBHE K 159,900 150,000 9,900
= 59,960
o= 48,542
Al 51,398
307 QI2+0I & 159,900 150,000 9,900
= 59,960
== 48,542
Al 51,398




2N

M HOHR %XI%E(MSIEII/HOU#I X&)
el BOjOl SXAA L S X CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
10 AL SXNAIEEE2EH EX 159,900 150,000 9,900
O SSZMHANSHMEME X
159,900,000& * 1JH 2 159,900
= 59,960
< 48,542
Al 51,398
stidlAlE 2EX& 783,661 753,368 30,293
= 548,562
< 235,099
307 glz2tol & 783,661 753,368 30,293
= 548,562
< 235,099
0O MBETALEHE2ZHIES 783,661 753,368 30,293
O AL (B eA) 2|
783,661,000& * 14 783,661
= 548,562
= 235,099
StlAlE 29 XA (&) 17,640 17,640 0
< 8,820
Al 8,820
307 2Iztol ™ 17,640 17,640 0
< 8,820
Al 8,820
10 AL SXAIEEE2EH EX 17,640 17,640 0
O SHHlAIZ (0T QAA) SAN SEE
17,640,000& * 14 17,640
< 8,820
Al 8,820
Zopel =X X 126,800 162,820 36,020
307 21201 A 126,800 162,820 36,020
02 It M AIHE L 35,500 32,900 2,600
O XML RE34L 24
3,000,000& = 14 3,000
OMHEHLES RE34L 24
3,500,000& = 14 3,500
O A2ZEeEs RE3aL 24
1,500,000& * 14 1,500
O NFFMIHES SRIAL 29
1,500,000& * 14 1,500
O s0telgs Regaa 29
1,500,000& * 14 1,500
O 2L EQEsSAS(HMAR2H)
4,500,000& = 14 4,500
O AEE gBA & I8 A Ho
2,000,000& = 14 2,000
O dMEFM S&EE N
7,600,000& = 14 7,600




AN el 04t
PN

M HOHR %XI%E(MSIEII/HOU#I X&)
&2 HoHe SXAIE & &M K& (=& J)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O MAZOMS & JISAE
2,000,000& = 14 2,000
O AlgZoe d&EME X
3,600,000& = 14 3,600
O &= Foe JsZJItHa ot X
900,000& =« 13l 900
O &g o JsZJItHal ot X
1,800,000 * 13l 1,800
O &= Zoel AHoE=Us &It N
900,000& =« 13l 900
O &g ZOQ HEST AN &I XH
1,200,000& * 13| 1,200
03 RIZIGH M H2EHIEX 44,500 44,500 0
O (MXMEMNAES H=AIXS 2SI
12,000,000& * 14 12,000
O (AB)MHEOMHCISXE H=AXKIE 2HHI
12,000,000& * 14 12,000
O (AAIZEOHCIES H=+X3 22|
6,600,000& * 14 6,600
O (M)sotelEal H==AX2 22l
13,900,000& * 14 13,900
11T AISI S XA E = 46,800 85,420 A 38,620
O XNMZEMHASEa SMXE s
4,500,000& = 14 4,500
O MHEML=RS SAXE 25X
4,500,000& = 14 4,500
O =sO0tZe OISR SAXE SAE2S X
2 4,500,000& =« 1CH 4,500
O NFEE SHIE MEUE AY
5,000,000& = 14 5,000
O FAZ0M =38 ML ASotI At
9,200,000& = 14 9,200
O AZZEoe dltns 228 29 X2
2,600,000& = 14 2,600
O HHEMe A& 2d(HEs0eE UML)
7,500,000& * 14 7,500
O OIAFMe AT 2 (HYS0E
AIOA) 4,000,000& * 14 4,000
O gg@e Jzxz278 XA
5,000,000& = 14 5,000
Zoel HOAlME AX 45,301 0 45,301
< 13,590
Al 31,711
307 gl2tol & 45,301 0 45,301
< 13,590
Al 31,711
02 It M AHE L 45,301 0 45,301




M Lol &0H el It
M HOHQ! %XI%E(MSIEII/HOU#I INEED)
Cel: ZOoHS EXAIE L S XY (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O 2018E HOHQIEHOAAE AEHZAIRE Q121H|
11,325, 120€¢ * 49 45,301
& 13,590
Al 31,711
Ao 2 AZNe2s A 3,000 3,000 0
307 2Iz2t0| & 3,000 3,000 0
02 QIZHEAAIRE E X 3,000 3,000 0
O Ao &2 dZNe2s Metd=ila X
3,000,000& = 13 3,000
SO QIO L AL 30,000 12,000 18,000
307 Q12t0| ™ 30,000 12,000 18,000
04 SIZ2ISHAMAISHE E X 30,000 12,000 18,000
O T2 ZOHQIe Y stiA}
30,000,000& = 13 30,000
ZOHO SHEME =8 A 18,300 13,000 5,300
307 QI2t0| ™ 18,300 13,000 5,300
02 QI2tAAMAIE E =X 18,300 13,000 5,300
O &ofe sdMEg T2 X 18,300
o XM SHEAME 6,300,000& = 1Al 6,300
o MHYEOC HEME 3,000,000& = 1A 3,000
o AZEOC HEME 3,000,000 = 14 3,000
o =00 EAEME 3,000,000& = 1A 3,000
o NAEAZOC HEME 3,000,000 = 14! 3,000
KM EOHerel AL 1,800 1,800 0
307 2Iz2t0| & 1,800 1,800 0
02 QI AAIE E X 1,800 1,800 0
O XNHMZEOHCIS & AL &I K&
1,800,000 = 13| 1,800
Al ZEEOH Il L S AL 2,000 2,000 0
307 2Iz2t0| & 2,000 2,000 0
02 DI AAIE E X 2,000 2,000 0
O AZEOelo < @AP(%II%OIQJ EPRE=wli
X & 2,000,000& = 13 2,000
SO0rolol & A} 1,350 1,350 0
307 2I2t0| ™ 1,350 1,350 0
02 IZHB AAIE 2 X 1,350 1,350 0
O =0l & AL &It K&
1,350,000 = 13 1,350
Z0He =28 StotY & A 1,800 1,800 0
307 QI2t0| & 1,800 1,800 0




AN el 04t
PN

HH: oo =SXNsA(MEXN/FHLHSTE)
Sl FOjel =XAL U SH X (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 It M AHE L 1,800 1,800 0
O ANHFMY S8FME =228 X
1,800,000 * 13| 1,800
ANZEO el SBH A} 6,300 6,300 0
307 glz2tol & 6,300 6,300 0
02 It M AHE L 6,300 6,300 0
O AMZEe SE M8 X
6,300,000& = 13l 6,300
A =0 23HH 3,500 3,500 0
307 21201 A 3,500 3,500 0
04 DIZHHALALSE E X 3,500 3,500 0
O A& =0 23tM MK
3,500,000& = 14 3,500
O==Al ZOHel S0te U=H 23,000 11,000 12,000
307 21201 A 23,000 11,000 12,000
04 QIZFHALAIH B = 23,000 11,000 12,000
O O==Al ZO0He S0te U=
23,000,000& = 14 23,000
Hatgd A 880,000 0 880,000
= 440,000
< 97,680
Al 342,320
401 A& HIZ 201 8] 880,000 0 880,000
= 440,000
< 97,680
Al 342,320
01 A& HI 859,848 0 859,848
O &9 Heda HE
880,000,000& * 97.71% 859,848
= 440,000
< 97,680
Al 322,168
02 2teldl 14,608 0 14,608
O 39 HagEa Ag 880,000,000 = 1.66% 14,608
03 AlE 2 THHI 5,544 0 5,544
O A9 Hedd A8 880,000,000& » 0.63% 5,544
ZOHQ HAFAIE JIsEZAY 20,000 0 20,000
402 RIZEX201 A 20,000 0 20,000
01 U2 EALE X (XA R) 20,000 0 20,000
O Jtuse 2= &X1 20,000,000& * 14! 20,000
dE Zofe Stots =M 2 Zoe SsHER &S 36,000 0 36,000
284




AN el 04t
PN

o ZOHe 2NSE(MSS/FHLHESN)
&2 HoHe SXAIE & &M K& (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 36,000 0 36,000
04 DI2HHALALSE E X 36,000 0 36,000
O &He ZoHe oS UM & HoHel s
HER g2l 36,000,000& * 14 36,000
HY2AZHI (=l &0 D) (D1EH/DJIEH) 162,236 162,868 A 632
el 2l 76,827 79,027 A 2,200
ol 2| 76,827 79,027 A 2,200
101 @14l 76,827 79,027 A 2,200
01 2=+ 8,811 12,533 AN3,722
O g2 228 5Y224+Y 8,811
° 6= 89,010& = 1% = 52¢ 4,629
o 7= 80,4093 * 1H » 52¢ 4,182
03 RIAHAZ 2T E =+ 68,016 66,494 1,522
O AMZA2 R 25,275
o <BAZ(HTF HIIUY)
10,3323  3Y = 20AI2t = 128 = 150% 11,159
o H>EAZ(AMNBEZHUHA)
12,4313 = 18 = 20AI2t = 128 = 150% 4,476
o <2PAEZ(SEE2CE)
13,388 » 2% * 20AI2t = 128 = 150% 9,640
O 5222+ 41,241
o otEE 2eld 160,650& » 298 = 672 21,528
o & I I
123,981& * 3H » 53¢ 19,713
O g2ze 2e(22H) H=
150,000& = 5% « 23] 1,500
Jl2 &3l 85,409 83,841 1,568
JlE&l 85,409 83,841 1,568
201 ¢er24] 54,252 52,395 1,857
01 At 22l 54,252 52,395 1,857
O Let+=3H SHAA 32,382,000 = 14 32,382
O =gH %A & 21,870,000& = 14 21,870
202 04 tl 26,957 27,246 A 289
01 = LH 4 di 26,957 27,246 A 289
O BA2Y SHA& 26,007,000 * 14l 26,007
O SM23NMS SAs SAYL FA(19Y)
50,000& = 199H 950
203 R =&l 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
O LolZoielnt(25%) 350,000& * 123 4,200
HREs(CHMHAL) (LIS HFY /WY - 28) 7,440 12,899 A5,459
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